Cnuncok 3anacHbIX Yacteu

ans

[loameTanbHOUN MaLUUHbI

CAIMAN
SM 800 PRO

4KM-Ko08U

Made I_EI&!:!IEI

in
German .
y www.caiman.ru E




CAIMAN SM800PRO Tabnuua 1




Ne | ApTtukyn O603HayYeHue Ne | Aptukyn O603HayeHue
- 4HM-R11 LWeTtka (SM800PRO) 36 | 4HU-A50 CTonopHoe KonbLo 50
1 FKZ-103 Kpbiwka 800 37 | 4AZ-A30Z LWkue A100-20
2 4DA-C87Z | V-kpai 38 | 4AZ-S01 UunuHapuyeckuit witndgT
3 | 4HO-S44Z | bont M6x15 39 | FKO-203 Perynatop wweTku Pro
4 4HR-C06Z | laika camokoHTp M6 40 | 4HJ-GO02 Pyyka 15
5 4DC-M15Z | Oepxatenb 41 | 4HO-AQ08Z | BonT wecTuUrpaHHbIA 6x16
6 4KC-A72 BonT (A) M6x35 42 | 4HR-C06Z | laiika camokoHTp M6
7 FKZ-106 Brtynka (wieTka) 43 | 4HK-S01 CalneHT6nok
8 4KH-PO1 WnoHka DIN 6885 (7/8/80) | 44 | 4HO-A61Z | Bont wecTUrpaHHbIn 12x65
9 4HJ-B23 [ducTtaHunoHHas waiba 45 | 4HW-B12Z | Wanba B & 12
10 | FKZ-206 Ocb (WweTka) 46 | 4HR-A12Z | laitka M12
11 | 4DA-E03Z | LWlanba E 47 | 4AHW-A12Z | Wanba Q& 12
12 | 4HW-B12Z | Wai6a B & 12 48 | 4HJ-D02 Waiba MBX
13 | 4HR-C12Z | laiika camokoHTp M12 49 | 4HR-C12Z | lavika camokoHTp M12
14 | FKZ-201 Penyktop 49/45 (weTka)

15 | 4KB-S01 UepBsiuHblii pegykTop 49
16 | 4HL-AO01 KonbLo 40
17 | FKZ-102Z | ®naHey 2
18 | 4HO-AQ7Z | BonT WecTUrpaHHbIi 6x12
19 | 4HW-A06Z | LWainba @6

20 | FKZ-101Z MopwmnHuk 49/45

21 | 4HO-A25Z | BonT wecTurpaHHbIN 10x30

22 | 4HR-C10Z | laika camokoHTp M10

23 | 4HU-142 CTonopHoe konbLo 42

24 | 4DC-H48 Ban pegyktopa 45/49

25 | 4HA-A20 MopwwunHuk 6004 2RS

26 | 4HU-A20 CTtonopHoe konbLo 20

27 | 4HX-G30 Unnunapuryeckuii WtndT

28 | 4KC-A20 CoepuHuTenbHas

29 | 4KC-B10 CoeamHuTenbHasl, cBepxy

30 | 4KC-A18 CoeguHuTenbHasi, BHU3Y

31 | 4HW-P51 Mpoknagka DIN 988

32 | 4KH-P05 LnoHka DIN 6885

33 | 4DA-LO1 InctaHumoHHas wanba

34 | 4HO-A34Z | Bont wecTurpaHHbIi 12x30

35 | 4HW-D12Z | Waviba D & 12

CAIMAN SM800PRO

Tabnuuya 1




" 44 59

N B 61
00 | 00 44 -~
°/ /Olo\\d\ l\o\o

62 60

64

68 67 66 65 64 63

CAIMAN SM800PRO Tabnuua 2




Ne | ApTtukyn O603HayYeHue Ne | Aptukyn O603HayeHue

1 FKO-110 Hepxatens weTtkn PRO 38 | 4HJ-A02 dnaHueBas BTyrnka

2 4HB-A36V | PemeHb (VB 13x1775) 39 | 4HO-I113Z Bont M8x16

3 | 4HO-C43Z | bont wecturpanHbiini2xi1o | 40 | 4HW-F08Z | Konbuo 10

4 | 4HW-A12Z | Waiba @ 12 41 | 4HR-A08Z | laiika M8

5 4HR-C12Z | laiika camokoHTp M12 42 | 4DA-C53 Kpbliwka

6 4HI-A01 MpyxuHa (pacTsxeHus) 1 43 | 4HO-G12Z | bonT WwecTurpaHHbIN 8x12
7 FKN-121Z | XpaHeHne KN 44 | 4HR-C08Z | laiika camokoHTp M8

8 4HO-A14Z | BonT WeCTUrpaHHbIA 8x20 45 | 4DC-K14 Ban PRO

9 | 4HW-A08Z | Waiba O 8 46 | 4HX-H50 Unnungpuryeckuii WtndT
10 | 4HR-108Z KsagpatHas ravika M8 47 | 4HX-H36 Lununapuyeckuid WtndT
11 | 4HY-BO7 3aknenka VA 48 | 4AZ-A34Z | OBoiHoW WKuB

12 | 4HA-Y25 Y-nogLwumnHmnk 49 | FKO-102Z | Wkue PRO

14 | 4HW-D08Z | Waiba D & 8 50 | 4HW-P59 Mpoknagka DIN 988

15 | FKN-112Z | bont KN 51 | 4DC-0O01Z | Konbuo 25

16 | FTS-106Z Hanpaenstowias 65 52 | FKO-205 LkmB (cuenneHune)

17 | 4HO-A07Z | bonT wecturpaHHbIA 6x12 53 | 4HA-A25 MoawwnHuk (6005 2RS)
18 | 4HR-C06Z | laiika camokoHTp M6 54 | 4HU-147 CTtonopHoe konbLo 47
19 | 4HO-A11Z | BonT wecTurpaHHbIA 6x30 55 | 4DC-R10Z | KoHycHoe konbLo 25

20 | 4HW-B06Z | Waii6a B & 6 56 | 4HB-D24V | PemeHb (VB 10x630)

21 | 4HI-A02 MpyxunHa pacTskeHns 2 57 | 4HB-A20V | PemeHb (VB 13x850)
22 | 4HO-A13Z | BonT wecTuUrpaHHbIn 8x16 58 | 4DC-H29Z | Bepywasi ocb 182

23 | 4HO-AB1Z | BonT wecTurpaHHbiv 12x65 | 59 | 4HD-B60 Lens KO

24 | 4HR-A12Z | laiika M12 60 | FKA-101 3ybuaTtoe Koneco

25 | FKN-115Z | HartsxHast nnaHka 61 | 4HW-A20Z | Wanba @ 20

26 | 4HA-A12 MoawwnHuk (6001 2RS) 62 | 4HO-C18Z | BonT wecTturpaHHbIN 8x40
27 | 4AZ-A35Z Ponwuk cuennenuns 63 | 4KC-A03Z | Kombuo

28 | 4DC-H31 Brynka 12-10 64 | 4HU-A20 CTtonopHoe konbLo 20
29 | 4HB-A35V | PemeHb (VB 13x600) 65 | 4KC-B36Z | Mpoknaaka DIN 988

30 | 4KC-A21 HaxumHoin BUHT 66 | 4HJ-DO3 Wan6a 20 PA

31 | 4AZ-205 HaTspkHol wikne B2 67 | 4DA-104 Konbuo |

32 | 4DC-M03Z | Btynka 68 | 4KH-X01 LLnoHka DIN 6885

33 | 4HW-B10Z | Wai6a B @ 10 69 | 4DX-A03Z | Kopnyc FRL

34 | 4HO-M52Z | BonT AoiMOoBbIN 3/8 UNF

35 | 4HW-F10Z | Konbuo 10

36 | 4HR-A51Z | laitka groimoBas  3/8 UNF

37 | FKO-215 Kopnyc PRO

CAIMAN SM800PRO

Tabnuuya 2




CAIMAN SM800PRO Tabnuua 3




Ne | ApTtukyn O603HayYeHue Ne | Aptukyn O603HayeHue

1 4HJ-X30 Kopnyc PRO 36 | FKN-111Z | Aytpurep V

2 4AZ-136 MoBopoTHasi pyyka 37 | FKN-129Z | OnopHbit 6ont A

3 4DA-I101Z Haknagka 38 | 4HW-B10Z | Wain6a B @ 8

4 4HW-A10Z | Wai6a @ 10 39 | 4AZ-VO1 Bapuatop

5 4HO-S47Z | bonT M8x15 40 | 4HA-A10 MopawwunHuk (6000 2RS)
6 | 4HK-EO1 Waiba MNBX 41 | 4ADM-PO1 Brynka V

7 4DA-F202 OcHoBanve geuratena KN | 42 | FKN-112Z | OnopHbii 6onT B

8 4HW-D08Z | Wan6a D & 8 43 | 4HY-BO7 3aknenka VA

9 4HO-A14Z | BonT WecTUrpaHHbIi 8x20 44 | 4KB-S10 KopoGka nepepay Mota.
10 | 4AZ-S22 MoTOpHbIE BUHTBI 45 | FKN-134Z | Noppepxka Mota.

11 | 4DJ-D02Z | Btynka 15 (MoTop) 46 | 4KC-A56 Bont GFD

12 | 4HW-F08Z | MpyxuHHoe konbuo 8 47 | 4AZ-301Z dnaxey 12

13 | 4HR-A08Z | lavika M8 48 | 4HR-C05Z | laiika camokoHTp M5
14 | 4AZ-A03 LWkue (MmoTop) 49 | 4AZ-A46Z | Lkue Mota- 100

15 | 4KC-A04 CrepxeHb ¢ pe3bboit 8x10 50 | 4HX-F25 Lununapuyeckuid WtndT
16 | 4KH-S01 Taperka npyXuHbl DIN688S 51 | 4HE-B03 LWecTepHs 9

17 | 4HO-G12Z | Bont wecTurpaHHblii 8x12 52 | 4HO-G05Z | BonT wWecTurpaHHbIN 5x25
18 | 4HR-C08Z | laiika camokoHTp M8 53 | 4HB-D25V | PemeHb VB10x450

19 | 4AZ-636 JpoccenbHbliit kabenb SU 54 | 4HN-GO8 Koneco 4.00-6
20 | 4HO-174z Bont M6x60 55 | 4HN-BO1 O6og PRO
21 | 4AHW-A06Z | LWainba @ 6 56 | 4AZ-801Z CknagHon WnmnuHT 8/32
22 | 4HR-C06Z | laiika camokoHTp M6 57 | 4DB-D28Z | Ykpennenue SU
23 | 4HR-C10Z | laika camokoHTp M10
24 | 4HI-B04 MpyxunHa
25 | 4KC-B20 Bont (naBneHue)

- FKO-211 OnopHoe koneco P (komnn.)
26 | FKO-107Z | Burnka (koneco)
27 | 4HW-A20Z | Wanba @ 21
28 | 4ADM-B01Z | Btynka (ocb)
29 | 4HO-C43Z | BonT WwecTurpaHHbIn12x110
30 | 4HW-A12Z | WWait6a @ 12
31 | 4HR-C12Z | laiika camokoHTp M12
32 | 4HN-GO1 Koneco 2.50-4
33 | 4DA-C78 3agHss kpbiwka 800
34 | 4HO-A13Z | BonT wecTurpaHHbIN 8x16
35 | 4HW-A08Z | Waitba @ 8

CAIMAN SM800PRO

Tabnuuya 3




\ﬂ:
. 2
20 =
18 —
4 19\0
8\! /9 /10
(ol »
57 1
' |/11
e 16
23 4
(D g
/12
15
14 4

13
/
| 4

CAIMAN SM800PRO Tabnuua 4




Ne | ApTtukyn O603HayYeHue Ne | Aptukyn O603HayeHue
1 FKN-119 HwxHuia pynb 102

2 4HO-A14Z | BonT WecTUrpaHHbI 8x20
3 | 4HW-A08Z | Waiiba &8

4 | 4HR-C08Z | laiika camokoHTp M5

5 FKN-213 PerynupoBka

6 4DM-D02Z | Brynka

7 | 4HR-K10Z | lanka (A) 10

8 | 4KC-B33 Pbim-6ont KN

9 | 4HW-A12Z | Waiiba & 12

10 | 4KC-A15 poBep waiba 12

11 | 4HJ-GO8 Pyuka NBX 12

12 | FKO-105 Pyns PRO

13 | 4HJ-G14 Pyuka 25

14 | 4AZ-713 Kabenb cuennexus F

15 | 4AZ-709 Kabenb cuennenus B

16 | 4HI-A01 MpyxunHa (pacTsxeHust) 1
17 | FKN-238 KoHconb (pbivar)

18 | 4DC-C18Z | ZD-crepeHb

19 | 4KC-A08 3aXknMHoe KombLo 6

20 | 4HW-A06Z | LWaiba @ 6

21 | 4HZ-D20 LWnnuHT 2.5%x20

22 | FKN-138Z | PblyarV

23 | 4HJ-G02 Pyuka NBX 15

24 | 4HO-A15Z | bonT WwecTurpaHHbIN 8x25

CAIMAN SM800PRO

Tabnuua 4




MpoussoguTens:

4F Maschinentechnik GmbH
F— Am Gasspeicher 6
pnife 49453 Rehden

Masghi"""'wc epmaHus

UmnopTep:

000 "KOHNCOO KOHCTPAKLLUH"
141580, obnacTtb MockoBckasi, paioH ConHeuYHoropckuin, aepeBHs YepHasi psasb, ynuua CxoaHeHckasi, kopn.1, 6nok [
MHH 5044068051, Or'PH 1085044004605

WHTepHeT: www.unisaw.ru

TenedoH: +7 (495) 651-92-55 OnekTpoHHas rnoyta: info@unisaw.ru



	ETL SM800PRO Deckblatt
	ETL SM800PRO T-1B
	ETL SM800PRO T-1
	ETL SM800PRO T-2B
	ETL SM800PRO T-2
	ETL SM800PRO T-3B
	ETL SM800PRO T-3
	ETL SM800PRO T-4B
	ETL SM800PRO T-4
	ETL SM800PRO Rückseite

